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A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

(u* —u'® 4+ 110" — 10u! 4 46u'° — 370 + 91u® — 62u” + 86u’ — 46u° + 34u* — 120> + 4u?

* 1 irreducible components of dim¢ = 0, with total 14 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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. = (u~—u"°+ u--“ — u-- + u-- — u® + 91u® — u’ + u°’ —
I 1 413 4+ 110'? — 10u! 4 46u’® — 37u® + 91u® — 62u” + 86u’
46u® + 34u* — 12u® + 4u? —u — 1)

(i) Arc colorings

0
ailr = \u
1
a4 = —u?
—u
ar= \ud+u
u?+1
a3 = —’LL4 _ 2’LL2
U
a0 = \u
uw?+1
ag = u?
ud +2u
ag = US + U
ur+3u+1
a7 = ut + 2u?
w? + 6u” + 11u® + 8u3 + 3u
ag = \ —y!t — 7% — 1607 — 13u® —ud + u
—ull — 8u? — 2207 — 24ud — 9uB — 2u
az = —uM — 7w —16u” — 13w — P +u
—u't — 8u® — 22u" — 24u® — 9ud — 2u
az = —utt — 7 — 1607 — 13u® —uP + u
(ii) Obstruction class = —1

(iii) Cusp Shapes =
—4u2 40 — 4000 +36u° — 148uB + 11617 —248ub +160u® —184u* +88u? —48u2+12u—10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C7 u14+u13+_.__u_1
Cs
C3,C4,C5
14 13
€65 Cg, C10 u L u—1
C11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C7 y14_15y13+_9y+1
Cs
035 C4; Cs
14 1
€65 €95 C10 gt 21yt — 9y +1
C11




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u =

0.381730 + 0.6255111

—4.92622 — 2.939731

—10.63366 + 4.870491

u =

0.381730 — 0.6255111

—4.92622 + 2.939731

—10.63366 — 4.870491

u =

0.168472 + 1.3048901

1.39190 — 4.862641

—8.09843 + 3.433051

u =

0.168472 — 1.3048901

1.39190 + 4.862641

—8.09843 — 3.433051

u = —0.055653 + 1.3260601

7.86080 + 2.052171

—4.38288 — 3.488781

u = —0.055653 — 1.3260601

7.86080 — 2.052171

—4.38288 + 3.488781

u = —0.146994 + 0.6291651

1.33933 + 1.366931

—5.43833 — 6.348951

u = —0.146994 — 0.6291651

1.33933 — 1.366931

—5.43833 + 6.348951

u = 0.510750 —6.81823 —15.6260
u = —0.261519 —0.527184 —19.1440
u = 0.04100 + 1.815661 12.9478 — 5.83881 —7.65915 + 2.720281
u = 0.04100 — 1.815661 12.9478 + 5.83881 —7.65915 — 2.720281
u = —0.01317 + 1.822191 19.6027 + 2.37621 —4.40255 — 2.726401
u = —0.01317 — 1.822191 19.6027 — 2.37621 —4.40255 + 2.726401




II. u-Polynomials

Crossings u-Polynomials at each crossing
C17C27C7 u14+u13+..._u—1
cs8
€3,C4,C5
14 13
C6,C9, C10 u u +_u_1
C11




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1, €2, C7 yHt =15y 4 =9y 41
c8
€3,C4,C5
coyco,ct0 | Y H YT =0yt
C11




